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F4 HR(cm) | KEke) BMI ARRERAEE%)
A 151 60.0 26.3 327
B 154 60.8 25.6 26.8
C 160 46.2 18.0 205
R 169 50.0 175 19.9
S 150 50.0 22.2 17.8
T 162 53.0 20.2 283

T m 158.0 51.2 20.6 23.5

&&t 3160 1023.4 4113 4708

H5 20 20 20 20

=K 169 60.8 26.3 39.0

&/ 150 440 16.8 16.1

TEL v 21.6842 31.6475 | 7.2966 32.7497

BERE s 4.6566 56256 | 2.7012 5.7227

ZEEFEH s/m 2.9% 11.0% 13.1% 24.3%

BRI R R™2

BRLRE -0.12457 0.01552 FEESES (correlation)

&K &BMI -0.55136 0.30399

SREKRREE 0.01315 0.00017

{KELBMI 0.89456 0.80024

ARELIRRERAE 0.68146 0.46438 :

BMI L{ARE A 0.56998 0.32488

=CORREL (Fd%1 1, E512)
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AR R HE(cm) KE(ke) BMI Y ERESCY
HE(m) 1
KE(ke) -0.12457 1
BMI -0.55136 0.89456 1
IRAERAZE®%) 0.01315 0.68146 0.56998 1
O RERERAEDER (LOREZFIALTRDD)

RERE R2 HE(cm) K= (ke) BMI KRR EE®%)
HE(m) 1
KE(ke) 0.01552 1
N ESC) 0.00017 0.46438 0.32488 1
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